                                               HOLIDAY  HOMEWORK
[bookmark: _GoBack]GRADE : 5                                                                    SUBJECT :MATH
DO AS DIRECTED:
a. Find the LCM of 120, 96, 44.
b. Find the HCF of 36, 48, 60.
c. Add: 5/12     +       2/15.
d. Subtract : 6/18   -  2/16
e. Multiply :   5234 x  206
f. Divide :  633380  ÷ 206
g. Multiply : 3.14 x  4.7
h. Divide : 15.048 ÷ 1.2
i. Convert the following: 
      ( i ) 2 m 75 mm = ______ mm
      (ii ) 37023 g        = ______kg ____g
j. Convert 1.3 km into decimetre
